ECal_NHitsVSEHitTot ECal_NHitsVSEHitTot

900

50 50

800

1 IIHII

[ —700
!

40 40

600

! |||? I

Ilulf

I III | I

30 30 500

20

10

400
HIF *“H \ 20
rl ' \\\H‘h“ ! T " 1 300
|lq|||| K ‘ﬂ‘ }
II”HM‘”H‘ I ! ' 10 200

100

||l” "

= o o Lo L b L b ",
0 200 400 600 800 1000 1200 1400 1600 1800 2000

o e Lo L Ly L Ly
200 400 600 800 1000 1200 1400 1600 1800 2000

0




ECal_NHitsVSECITot

25

C 500¢
20|~

L —l4ooc
15—

C #300(
10}~

C —200¢
5_

C 100¢
O] P P P T AP P I I A o

600 800 1000 1200 1400 1600 1800 2000

0

200

400

25

20

15

10

ECal_NHitsVSECITot

ISOO(

—400(

#300(

—1200(

100c¢

200

400

Loy o b Lo Lo v Ly by 1y )
600 800 1000 1200 1400 1600 1800 2000



30000

25000

20000

15000

10000

5000

Datal/Data2

=
o
,L
o
o)

SS2g_nhits

[T T 171 | | I |_| T 11 | I T 11 | T 17T I T 11 | T 17T | T 11 | I T 11 | 1T 1T 1]
- PADMEInternal — SinglePositronRun-SingleHit -
E 92,6><103 - —— SinglePositronRun-MultiHit E
:|_|_|_|_|_|_|_ | | 1 1 1 1 1 1 1 1 | I | 1 1 1 1 | I | | |?! t—t—t B

10 15 20 25 30 35 40 45 50
Number of ECal hits



22000
20000
18000
16000
14000
12000
10000

Datal/Data2

8000
6000
4000
2000

=
= )

=
o
,L

SS2g clSize

—'— ! ! ! ! | ! ! ! ! | ! ! ! ! ! ! ! ! | ! ! ! ! | ! ! ! !

|
-
>
O
<
M
=
@
S
Q.

—— SinglePositronRun-SingleHit

3 —— SinglePositronRun-MultiHit
92,6x10° ev J

—[II|III|III|III|III|III|III|III|III|III|III—|'

_lII|III|III|III|III|III|III|III|III|III

U

Cluster size



Datal/Data2

=
<

ECd H|tEnergy

PADMEInterna

A X103 ev

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit




10°

10°

10

Datal/Data2

T EICIall_I !l[ISterEnelrgy T
PADMEInterna
92,6x10° ev

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit




25000

20000

15000

10000

5000

Datal/Data2

ECa_EHitTot

I N | T I_l LI | LI | T 1 LI | T 1 | LI | LI | T 1]
- PADMEInternal —— SinglePositronRun-SingleHit
N 92,6><103 P'TV —— SinglePositronRun-MultiHit
e | J |L [ 1 ﬂ L%L L ]




Datal/Data2

=
<

ECa_EHitTot

PADME Internal
92 6x10°

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit




ECa_ECITot

25000— PADMEInternal — SinglePositronRun-SingleHit —

20000

15000

10000

5000

%IIII|IIII|IIII|IIII|I

I
O
N

—— SinglePositronRun-MultiHit

(@)
X
=
<

ev

Datal/Data2

200 400 600 800 1000 1200 1400 1600 1800 2000
ES [MeV]



Datal/Data2

=
<

ECa_ECITot

PADME Internal
92 6x10°

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit




Datal/Data2

500

400

300

200

100

ECal_hitSeedEnergy

PADME Internal
92.6x10° ev

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit

‘Im S, \mm

il m.r | }l H}H 4

-1
10 0 200 400 600 800 1000 1200 1400 1600 1800 2000
ECISeed [MEV]



ECa EHitTot 1SingleParticle

6000:— PADME Internal —— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit

|
%
N
o)
X
H
<

5000 <0
4000
3000
2000

1000

Datal/Data2

_1 L 1
10 °0""200 400 600 800 1000 1200 1400 1600 1800 2000



Datal/Data2

1200

1000

800

600

400

200

o

ECal EHitTot 2SingleParticle

~ PADMEInternd

|
%
N
o)
X
H
<

ev

1 1 | 1l 1 | III»LI

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit

\&‘ e —

800 1000 1200 1400 1600 1800 2000



Datal/Data2

300

250

200

150

100

50

=
I

ECal_EHitTot 3SingleParticle

PADMEInternd
02 6><103 ev — SinglePositronRun-MultiHit

—— SinglePositronRun-SingleHit




40000
35000
30000
25000
20000
15000
10000

5000

Datal/Data2
H

ECa_EHitTot in14 16

PADMEInterna

92.6x10° ev

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit

=
Ioo




Datal/Data2

=
<

ECa_EHitTot in14 16

I L L B B B
__ PADMEInternal
92.6x10° ev

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit




20000
18000
16000
14000
12000
10000
8000
6000
4000
2000

=
o

Datal/Data2
H

ECal_EHitTot in16 18

PADMEInterna

92.6x10° ev

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit

I | IIJJII

IIo




Datal/Data2

ECal_EHitTot in16 18

i = —
10 ? PADME Internd —— SinglePositronRun-SingleHit ?
- 92.6x10° ev — SinglePositronRun-MultiHit ~ —
1008 ~
10° = .
10° = .
10

=
S



ECal_EHitTot in18 20

40000

—— SinglePositronRun-SingleHit

35000 —— SinglePositronRun-MultiHit
30000
25000
20000
15000
10000

5000

IIIII | | A4 11 | 1 1 1 1l 1 |

=
Co

Datal/Data2
H




Datal/Data2

=
<

ECal_EHitTot in18 20

_ PADMEInterna
92.6x10° ev

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit




ECal_EHitTot in20 22

/70000
PADMEInterna —— SinglePositronRun-SingleHit

60000:_ 92,6><103€V —— SinglePositronRun-MultiHit
50000}
40000
30000y~

20000(-

10000,
i\LLJ_.——I-.._L||||||| AN N N T T T R T A

Datal/Data2

-1
10 °0""200 400 600 800 1000 1200 1400 1600 1800 2000



ECal_EHitTot in20 22

PADMEInterna

—— SinglePositronRun-SingleHit -

Datal/Data2

=
<

92.6x10° ev

—— SinglePositronRun-MultiHit

———1
17
—1 11l

Il




ECa_ETotClus NClusl

6000 T T
— PADMEInternd

5000 92.6x10° ev

4000
3000

2000

1000

FIIII|IIII|IIII|IIII|IIII|I

L | L | 1T | L | T 4+

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit

lLl//\M\I_illL 1 1 | 1l 1 |

Datal/Data2
H

_1 -
10°0""200 400 600 800 1000 1200 1400 1600 1800 2000

Etlcgl [MeV]



Datal/Data2

ECa_ETotClus NClus2

1000— PADMEInternal —— SinglePositronRun-SingleHit

3 —— SinglePositronRun-MultiHit
92,6x10° ev J

800

600

400 |

200

OlL.;lllJ|L.,ﬂ'J“thua- M‘N_JJJ“.¢J

107 0 200 400 600 800 1000 1200 1400 1600 1800 2000
t2c§| [MeV]



Datal/Data2

ECa_TotEClus NClus3

200
180
160
140
120
100

PADMEInterna —— SinglePositronRun-SingleHit

3 —— SinglePositronRun-MultiHit
92,6x10° ev J

B O
o O O

N
o

=
Ioo

=
II|

11 1 PR I | .I.I.I...I---I b | 11 1
M| y

STHREH [ i SERIE | R Pa g A

IO DU DU 8 B 1 110 |11 81 ORI O SOt O | 0 DS

i (g T T

.......... |

-1 - .
10 "0""200 400 600 800 1000 1200 1400 1600 1800 2000
E;Octl [MeV]




Datal/Data2

ECa_EClus NClusl

2400
2200
2000
1800
1600
1400
1200
1000
800
600
400
200

FIII|III|III|III|III|III|III|III|III|III|III|IIIL

L I R B L
PADME Internal
92.6x10° ev

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit

III|III|III|III|III|III|III|III|III|III|III|IIIT

=
Co

o

-1
10 °g

200 400 600 800 1000 1200 1400 1600 1800 2000

Jk

E,, [MeV]



Datal/Data2

600

500

400

300

200

100

-1
10 °0""200 400 600 800 1000 1200 1400 1600 1800 2000

ECa_EClus NClus2

PADMEInterna —— SinglePositronRun-SingleHit

3 —— SinglePositronRun-MultiHit
92,6x10° ev J

E,, [MeV]



180
160
140
120
100

00)
o

H O
o O

~ 0
y 10 E
©
Q
o 1
(]
()]
10‘1O

ECa_EClus NClus3

)
o

PADMEInterna —— SinglePositronRun-SingleHit

3 —— SinglePositronRun-MultiHit
92,6x10° ev J

.i} ‘I'l i

T
III|III|III|III|III|III|III|III|III|

200 400 600 800 1000 1200 1400 1600 1800 2000
E,, [MeV]



60000

50000

40000

30000

20000

10000

Datal/Data2

=
<

ECa_NCluster SingleParticleOnEHitTot
| T T !

T T 1 | | I |_| T 11 | | T 17T | I T 11 | T 17T | T 11 | I T 11 | 17T T
— PADMEInterna — SinglePositronRun-SingleHit |
:_ 92.6><103 ev —— SinglePositronRun-MultiHit —:
_| 1 1 1 1 1 1 |—|—|—|—|—|| | 1 1 1 1 | I | 1 1 1 1 | I | 1 1 1 1 1 1 1 1 1 1 1 |_




ECal NCluster 2SingleParticleOnEHiItTot

S L B B I L B BN B BB
30000:_ PADMEInterna — SinglePositronRun-SingleHit _:
25000: 92 6><103€V —— SinglePositronRun-MultiHit ]
20000F =
15000— —
10000 =
5000 —

O_|||| | I | ||||i||II I | 1 1 1 1 | I | 1 1 1 1 1 1 1 1 ||||_
(q\| =
.FE =
©
Q
—

)

©

O e [ ]

10 0O 1 2 3 4 5 6 7 8 9 10
E.. [MeV]



8000
/7000
6000
5000
4000
3000
2000
1000

=
o

Datal/Data2
H

=
o
,L

ECa_NClust

- PADMEInternal
92.6x10° ev

er_3SingleParticleOnEHiItTot
| T

—— SinglePositronRun-SingleHit =

—— SinglePositronRun-MultiHit

IIII|II'|—|—|—|—hII|IIIIIIIIIIIIIII

| o




22000
20000
18000
16000
14000
12000
10000
8000
6000
4000
2000

Datal/Data2
=Y
= )

=
o
,L
o

ECa NHitsInClus

III|III|III|III|III|III|III|III|III|III|IIII—

PADMEInterna —— SinglePositronRun-SingleHit

3 —— SinglePositronRun-MultiHit
92,6x10° ev J

III|III|III|III|III|III|III|III|III|III|IIII_

30
N hits in cl



ECa NCluster

60000:— PADMEInternal —— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit

|
%
N
o
X
H
<

ev

50000

40000

30000

20000

10000

OIIIIIIIIIIIIIIII?|I [N N S N I N [y I |

Datal/Data2

=
<




45000
40000
35000
30000
25000
20000
15000
10000

5000

Datal/Data2
=Y
= )

=
o
,L

ECa HitTime

PADME Internal
92.6x10° ev

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit

00 =50

0 50 100



4000
3500
3000
2500
2000
1500
1000

500

Datal/Data2
=Y
= )

=
o
,L

ECa_ClusterTime

PADME Internal
92.6x10° ev

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit

0 =50

0 50 100



4000
3500
3000
2500
2000
1500
1000

500

Datal/Data2
=Y
= )

=
o
,L

ECa_ClusterTime

PADME Internal
92.6x10° ev

—— SinglePositronRun-SingleHit

—— SinglePositronRun-MultiHit

0 =50

0 50 100



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36


